EARAROBREBRT —5 XN—ZXBISH—F

202448358 (&) 1@11IE58

N HE=—)VE C3—= USSR

BN

[AE%] 17%&:1,200,000 § ~ 237&:480,000 @ . 37&:300,000H  435:180,000 @ . 5 3&:120,000 M

ABIC OV TRUTEREERRODDZE. THRIIZEL.

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
- 4 5 | AHEE 1:39.5 6-6-3-1 |40.5| - 1 547 | ELAAIZ (1IE)
11719 | FU—= 56.0 =) @) | SEHNE
R:RSAVT B:7bh=hHhA0O /=Y ITr—1L
S Sh~, KEEZ :39. -7-7- . = hoegEsR— (11U
20111 |F—bLaATVT AR 1(329)9 M ’ (‘_1?3) =T
RT—IVRFII— B:ITF4FI LR CIEve
)=y F— 4 4 | BIHER 1:40.2 1-1-1-2 |41.6| — 2 496 | EHE (1B
N » NEEZEYE: 5.0 RV (-2 |BAEZ )
R:Ya—-hnrF—/ &:0N-7 NEBUS
Sy R f 6 | BHERER 1:41.1 5-4-9-7 |41.7| - 5 46 | SHIEN (1B
418|112y FZOD 54.0 ) “1 e
RNy vH—)L B I—-YYSEYR P95 BER
*~) 3~ ) PN\l — s 4 | DS 1:41.4 4-3-4-5 | 42.4] — | 10 | 3% |LLUEER ()
sl5lg | FVYVINEY 40 a1 L |LEKE
RE—FN KO- BT PPN
= s~ s 4 | LUEES 1:41.5 3568 |42.3| — | 11 | 483 |EIAELE (#eiE)
6|8[12|/\—T A —F2T 0 G/4) (5 |EEBE
Ry I—FIIYI B:N\vE—N—F 14— BREME KIERT—TIL
vd 1 P2 a2V Y 6| pEmE A7) 2| - )7 (441) ﬁtgzni (1)
RQU—RUVE 8:Y1vFAY 3w
S ft 5 | ABEX 1:42.1 2-2-2-3 | 43.3| - 6 | 483 |EHEB (e
8|55 E2a—TJLAK 54.0 ) «7) | MREIFE i
Rid T RD—ILEY B:TUUY TITSTF— 1
— R 4 5 | EIHEEKES 1:42.1 7-9-4-6 |42.9| - 8 447 | BEE—EE (RGHE)
97 /10| TAFII—F %.0 F9%) L |EE—E
RIN—EVIr— B94FYLAD BREA% EON—h—RSVF
= gLt » ol 42, -10-11- . - ZIRE ()1IIE)
10 8| 7SIVEVIRR X LS (e es ’ ff(f) AREET
RS/ Vyv—0 B:RFYIV B =
~ _ it 4 | BIFERE 1:43.7 12-12-12-12| 43.1 | — 12 | 443 | (FEREAR (WG1B)
nfy7 v¥7Uu-7z 54.0 ©) Ly |_@ TEmms
Rib—trS5— B:TUVIYVvIASAY DS
o —ne, 0 AERAES : -8-7- - AR (Ht8)
12 3 S—)LFVISY — 4t 4 i‘r53.05 1(.;/3“.)8 8-8-7-9 | 44.4 4 (4_527) ﬁgg%gu
R:Z2ROVTUI—Y B:ZAFFFRT Y b YHADRS
@ 11— —®BIEfI
13—7F— 2,5,12,6,11,9,10,3,1,8,4,7
20—3F— 2,5,6,11,12,9,1,3,10,8,4,7
30—7— 2,5,9,(6,10),12,(1,3),11,4,8,7
40—7+— 9,2,5,1,6,10,11,12,3,4,8,7
o ILRE
B B 9 1M | | 94 R 1-9 260M4 % 3= 1-7 5804 3EE 1-2-9 590M4
7B B 9 100/ 2-9 1604 B 7-1 620/ 3EH 9-1-2 1,640
1 210 1-2 560MH /B & 1-9 620/
2 120 =51 9-1 640M4




